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o ARERBON AR AR - ARSI - 2 » TEHEEGK -
B | AR (EB5
VI 7-5 7-6
7-6 7-7
8-5 8-6
8-6 8-7
8-7 8-8
1-1 BEEdHA PEyIsHE
1-3 AN El i FEE
1-12 | 2% THello M Hello world ! 4
2-16 | _beep(784,2*7); _beep(784,4*7);
2-14 | void _beep(unsigned intx,unsignedint y); void _beep(unsigned int x,unsigned int y);
2-19 printf(“hello,%s\n”); printf(“hello,%s\n”,a);
2-22 printf(“hello,%s\n”); printf(“hello,%s\n”,a);
3-4
TAREMELAOX HOXBHTE , FlIOXA | TREMELL 0X = 0x FAEE , Bl OxA ;|
ROXB A +TNES , 2RREKRTHENMN | 0XB A +NES |, 2B RTHEAE 10
fY108E11 ; J\EBIFELAO BEER , fi B2 11 ; /UG RIELL O BEEE , Bl , 072 Al
m, 072 BlA/EN , SR TEM RNAEN , FRTELR 58,
58,
3-8 .chara [10] .chara[10]
3-16 int a=3,b=4; int a=3,b=4;
b=c; b=a;
3-16 int a;char d[10];//the type is string int a;char d[10];//the type is string
c=a; d=a;
4-8 a_:b_:C_ al b1 cl
a b [ a2 b2 2
4-8 a b c . al b1 cl
_——f — a2 b2
'a b "¢~ ¢
4-11 a=1;b=2;b= a=1;b=2;c=3;
4-17 4-3d 4-3c
4-18

FERAREERNEE LN EEHIS la, &

FERAREERNEE LN EEHIS lao




6 la,

4-19 printf(c); printf("%d",c);
printf(d); printf("%d",d);
4-20 / = =/t — )% + (71— 7,)?
d=v(x —x )2—=(y —y )2 d =0 —x)% + (71— ¥2)
4-23 | (4) RIFAES R ¢, b
(4) ARSI x = 2 de _ (cib, —c,by)/d
a; G
a, C
y= 2d 2 =(a,c, —a,c;)/d
4-27 | [FEI—FE=CAERI X 5 2 UK R
4-30 int b=22; int b=122;
4-33 | FiTLADO1A Fft A DO2A
4-37 | cout<<((a==1 )& (@>0) && (b>=2)<<end]l; cout<<((a==1 )& (@>0) && (b>=2))<<endl;
cout<<((a==1 )Il(@>0)&&(b>2)"(c==3))<<endl; | [EEHEEL
4-37 H¥4E 55 417 > inta=4;b=5,t; - HI4E 55 417 > inta=4,b=5,t; -
5-8 | & 13 %1 EilA R
5-8 (2,1) (1, 1)
5-13 | 3. DL BB A RHER 3. DL BRI A FUbHERR
5-37 6%8=42 6%8=48
5-46 | //If you want to change it,youneeed //If you want to change it,you need
5-48 X; Vi x4, y4 ks x1, y1
1| X ¥ 1 (
—_ = — X, V, X, VT
5| % vs 5 XY 2Y3
X4 V4
6-7
6. BEMmAE-1, EBmAE 3
8. EEZ —E#EL B2 2/, BEEZ—EEO E1 2™,
6-10 | BATEERAVEIALSE T .
e PITH R
11 is a prime
6-22 | 3.65H% 3.758%
5
(1)
g=9g-1

q=q+1




6_25 | FTEEIRAVEGE T am BTTE TR
6 25 int sum,a; int sum=0,3;
6_28 B
#include<math.h>
6-28 result+=(r*pow(10,c));
result+=(r*powl(10,c));
BHEMBE , Dev )Rk , CodeBlock 1T
6-32 | FETT KT
6-34 | IEFR sig
=
6-35 | IS F%ﬁ#é?%
6-47 | EHFF/NA 12 /N 12 (R4
13. %8I8 (C) +/2 /2 (+F45)
6-58 | f2=1 F2=1
7-13 | FRETAE (R faIk
7-15 | HtlA - 7-40 - 7-63 AH[E R e ]
7-24 | SITEERAVEIAYS aA H C# T2
7-31 | AR RO
32-33
7-33 | BB 4 17 BAEERC BAEREH
7-67 L b,, bss J b31 b32
Cy = a5 Xbyyt+ay, 9 6 a2] 0B a22
7-69 | printf("%3d",b[1][j]); printf("%3d",c[1]1[i]);
7-69 | 7-5 7-6
7-71 | 21T BF = =
7-74 | (3) FHERPAEZAIT (3) S5 MHERAEWT
7-94 | b[10001] b[1001]
AR b1V 1 1 Ry 2
7-97 | FH 317 Al il
7-107 | inti,n=1000; int i,n=1000;
int a,bl,b2; int a,bl,b2;
intinc; int inc;
intnum=0; int num=0; (JOZEH )
7-109 N<100

£ — FBEN<100N<100 ,

% = FBEN<1000N<10000 ,

N<10000




7-110 = 1 Arerult result
result
TN sesult
7-111 | for (inti=1;i<=num-1;i++) for (int i=1;i<=num-1;i++)
IS
8-11 | ik Behs
8-14 | putchar(c); putchar(b );
8-24 | char a[]="How many ... RRESEE RS - SEEE N T
8-28 | 917 MMREIERA T A B Rt B
8-31 | MR 477 455 1111111 fEde 01111111
8-33 | time() e Ry MESE - RIKTE
8-39 |3. A retrun FEE-BERA . return
8-50 | cout<<"before:"<<i<<" "<<a[i]<<" HERCEEI M - 58 B AT
"<<index<<" "<<a[index]<<endl;
cout<<"after :"<<i<<" "<<a[i]<<"
"<<index<<" "<<a[index]<<endl;
8-65 inthum; int num;
inti=0; int i=0;
Iz
8-69 %Eﬁizeﬂ% ﬁim%%‘“ﬂ’]ﬁkﬂﬁﬂl%ﬁﬁﬂ MhlEE2/4)
8-74 | FIHCE ﬁ i’]ﬁ"ﬁlﬂl%l P15 5 I 7 B
8-76 inti,j; int ij;
intminindex=0; int  minindex=0;
intminnum=0; int  minnum=0;
inthum=minnum; int  num=minnum;
charminstring[100]; char minstring[100];
S
8-77 (1110)2=(15)10 (1110)2=(14)10
(34)s=(14)10 (34)4=(16)10
8-78
(Xx2+y2 £ 1) (x*+y? £ 1)
8-79 26 -82




